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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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(a) Explain the different approaches to industrial
relations. What are the principles of good industrial

relations?

(b) What are the roles of government and judiciary in

Industrial Relations?

OR

(a) Explain the changing dynamics of the industrial
relations scenario in India brought about by the
globalization and liberalization of the economy.
Elaborate on the pre-requisites for good industrial

relations.

(b) Explain the system approach to the study of

Industria] relations.
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2. (a) How strikes and lockouts are two powerful
weapons both in the hands of employees and
employers under the Industrial Disputes Act, 19477
Compare the elements of strikes and lockouts.

(b) Explain the causes, consequences, and procedures
for the settlement of Industrial Disputes in India.

OR

(a) When a majority votes in favour of a strike or
lock-out, must there be a strike or lock-out?
Whether a notice is necessary before declaring

strike?
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(b) Describe the meaning and rol¢ of Conciliation with
example. What are remedjeg available to workers
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(a) Explain the settlement machineries available for
the settlement of Industrial disputes in India under

industria] Disputes Act, 1947.
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(b) Can an employer fj]e a grievance if the union is

not wmplvm& With the agreement? Describe In

detail the five-step gricvance handling procedure.

OR

(a) “Preventive machinery has been set up with a
view to create harmonious relations in the industrial

sector so that disputes do not arise.” Comment.

(b) What happens if, during negotiations, an employer
and a trade union cannot agree on the terms to be
included in a collective agreement? Are collective

agreements legally enforceable?
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4. (a) Distinguish between discipline and Indiscipline in
industrial relations. What are the causes of
industrial indiscipline in India?

(b) The Industrial Disputes Act, 1947 provides for a
three-tier system of adjudication. Describe in detail
about labor court in the adjudication system.

OR

(a) Explain the economic objectives of workers’
participation in management. What are the different

forms of workers participation in management?

(b) Describe the status of trade unions in the recent

period with the new industrial scenario.
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‘The Industrial Disputes Act applies to every
industry and its various industrial establishments
irrespective of the number of workmen employed.”

Comment Can an individual raise an industrial
dispute?

“Adjudication is.not an ideal means of settling of
industrial disputes”. Comment. Which is the non-
adjudicatory machinery for settlement of industrial

disputes?
OR

“Arbitration is a voluntary method of resolving an
industrial dispute.” Explain. Describe various
authorities under thé Industrial Disputes Act, 1947
with special reference to the settlement of

industrial disputes.
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(b) What 18 Retrenchment? Explain the condition
precedent to retrenchment gy procedure for

retrenchment under Indus(yig| Disputes Act, 1947
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